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EconoEd: Toys for Me 
Discussion Questions – Answer each question by typing your response into the text boxes.
1. Scarcity does not understand the difference between “this AND that” and “this OR that”. What is the difference?







2. Why does Scarcity want every toy on the magic tree?






3. [bookmark: _GoBack]There are 10 gifts on a tree. Select two gifts. Mother says it's OK to get one of the two gifts, but not both. You must choose between two gifts. What is the opportunity cost of this choice?


